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(20%) Find the best local alignment between AATGGG and GACGGT using the
pair measure with p(a, b) = 2if a=b; p(a, b) = -2 if a=b; and p(a, -) = p(-, b) = -1
where—isaspace. (Answer must contain the best score and its corresponding
local aignment)

(10%) Using UPGMA, draw arooted phylogeny for object A, B, C, D, E
corresponding to the distance matrix in Table 1.

(10%) Using the Fitch-Margoliash agorithm, draw a unrooted phylogeny for
object A, B, C, D, E corresponding to the distance matrix in Table 1.

B C D E

A |5 55 60 20

B 60 25 45

C 65 45

D 50
Table 1

(10%) What is the PSSM (position-specific scoring matrix) of the msa (multiple
sequence alignment) in Figure 1 where 10g2(0.1) = -3.32 > log:(0.4) =
-1.32°1022(0.8) =-0.32 > 1log2(1.2)=0.26 > log2(1.6) =0.68 > 1log2(2.4)
=1.26 log:(4) =2 ?
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